


m Solve a proportion
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To solve a proportion, cross multiply. Remember to distribute when appropriate.
Then solve for x. Always check for extraneous solutions.
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On your whiteboard...

Al 8 _ 2

3x—2 x-—1
g (1-1) =23 -2
Yx —§ = lox—Y4
o S—

x-8=-¢

g +9

x+2
x—3

B] =)

AN\

o?ﬁ(?ﬁr |(x+2)

AX-l= K +2
-X ~-X

X-lb=2
+b6 +6

9

=E

_ W4z
2= bk

x—4 10
x—1 x+7
(- (A D= 0 (¥ 0)
X +3x-28=]0K-®

/o) —(oX
YT -2§ = (O

Cl

#0440 - 1Y

Bl




m Solve a rational equation

To solve a rational equation, multiply each term by the LCD to eliminate the fractions.
Then solve for x. Remember to check for extraneous solutions.
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On your whiteboard...
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m Rational equations with extraneous solutions
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Extraneous solutions are answers that are algebraically correct but do not check in the
original problem. Remember that you can never divide by zero, so any value of x that
makes a denominator in the original problem equal zero is restricted from the domain.
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On your whiteboard...
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